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2.5 Using the Sine and Cosine Ratios
to Calculate Lengths

1. Determine the length of PQ to < I n 0~ bEE S04 CAR Tok

the nearest tenth of a centimetre.
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2. Determmine the leneth of 1K to .
ot sine = opp
“'I!." nesirest l{‘li'l"'l of a centimetre.
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3. From a radar station, the angle COS & = Q d J

of elevation of an approaching
e hyp

airplane is 32.5% The

horizontal distance between

the plane and the radar station COS (33 .5\ - 3_ 5.6 5
is 35,6 km. How far is the plane x X%

from the radar station to the

nearest tenth of a kilometre?
. cos3a.5): G
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